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BAOOZ EKIKA®QON ~1,25 =1,25 ~1,25 ~1,25
MESH KAIZH AFQrOY (%) 1.5 % veo Tinpa PEHD ©180 +H- 0.0% +H- 0.0% - 4.0%
PN16 - L = 200 m
STOIXEIA AFQroy UPIOTAPEVO TUAKA PVC, PN 16 - ® 180/144,6 mm - L = 2.830 m véo Tufua PEHD, PN 16 - ® 200/163,6 mm - L = 5.220 m véo Tufua PEHD, PN 16 - ® 180/147,2 mm - L = 2.050 m UPIOTAPEVO TUAKA PVC, PN 16 - ® 180/144,6 mm - L = 1.280 m
YAPAYAIKA STOIXEIA Q = 60 m3/h - v = 1,0 m/s - Judp. = 8,97 % -y Q = 60 m3/h - v = 0,81 m/s - Judp. = 4,64 % Q = 60 m3/h - v = 1,0 m/s - Judp. = 8,15 % Q = 60 m3/h - v = 1,0 m/s - Judp. = 8,97 %




